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Al Z 3 A 2t 1,181,942 911,074 270,868
= 17,149 12,030 5,119
X 531,600 531,600 0
Al 210,539 74,479 136,060
- 422,654 292,965 129,689
ANSZH gdat =2 967,530 704,030 263,500
= 2,160 2,160 0
X 531,600 531,600 0
Al 172,860 39,860 133,000
- 260,910 130,410 130,500
HSAE 2435 959,510 696,010 263,500
Xl 531,600 531,600 0
Al 170,700 37,700 133,000
T 257,210 126,710 130,500
HdEANE VU € EE 287,510 21,010 266,500
Al 133,000 0 133,000
T 164,510 21,010 133,500
401 Al HI K 201 I 6,500 0 6,500
Al 3,000 0 3,000
- 3,500 0 3,500
01 A& HI 6,500 0 6,500
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O S2AE HIJtE 2+ 3,000,000 14! 3,000 0 3,000
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O SSFEAZ(HIAZ) SHSMY I
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